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382 25 U Jle) Claizt AStELC T2l B2 320l S Clel2 Zof it
320 tizlol 2 THS0| UAELICE O PUSS TS o TR o FASLICL 7K 2 ozl 5 Yes
7o) RISAEFZOILE LU
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Comprehension Checkup 1.T 2.T 1.c 2.c 3.a 4.b

Vocabulary Focus 1.b 2.a 3.c 4.d
1.limbs 2.holes 3.laid 4.nests
Grammar Focus 1.Dinosaurs all had four limbs.
2.These holes made their skulls lighter.

Summary limbs / skulls / laid / developed / hatch
| Reading Focus | 13p. + Major kinds of plant-eating dinosaurs
- 29| 7{Ci2t pl2l= of 7iRLLe? =2 24 38 SR
- ZE MIISS ofCIo|M XIBILIR? - Brachiosaurus E2}7|2AREA

- Stegosaurus AH|TAIRZA

| Vocabulary | 13p. - Triceratops E2|AHZIEA

- dinosaur @38

- limb = &, Ci2|

- skull 2 H2|t, shZ
* hole =Y

- lay & 2CH(ay-laid-laid) Comprehension Checkup

- nest & SX|

- hatch =/ 23l5iCt, &2 7ictH U= 2Y2 TE, UK = 22 FE 12ML.
1. 2= 382 Y= SUSLICL [T]

| 28 XI= | 14p. 2. Oof ZEO| 2= 7ol XISXIPHE ZUSLICt

- Major kinds of meat-eating dinosaurs [T]

K_.C_)L OAI _T'_Egl ZF_E

- Tyrannosaurus rex E[ZIAIREAZIA 71E L2 EHE 12N 2.

- Tarbosaurus EIZEAREA 1. 222 2900 26t 2ULIR [c]

+ Allosaurus YEARZEA a. ZEO| tych




o 20| el g [ GrammarFocus

o
c. 382 2t X, J2lun &

2. IE2 F Ml 2|7t UMSLITF? [c]
a. 2l b.3M c.4H Aol 2 e M= SAC| AYS AEELICE
B29| 12 S0 -edE =0l=0, =+2lst
3. ZEO| M= of 7HHYELI? [a] A Hotz SAIEE USLICH O SAE2 AI”ol| Xt
a. H2|iol 2 THSO0| 7| T2 F UL B 7o FAI2,
b. T2/} 0} =47 | 20| have—had make —made
c. MZ|tHol| Xk =0| 91917| 2o lay—laid write—wrote
break—broke freeze—froze
4. My| 22 2 £0fM Lot SOt MASHSLITR [b] begin—began sing—sang
a. M5 ZH|7tH 2 x| know —knew
b. 23t5t ZH|7} 2 w77tx|
c. HES ZH|7} = x| LE 2l CIoiE AAHECZ HIY £ TS 2YS CIA &
M2

1. [Dinosaurs all had four limbs.]
SE2 ZF Ul 72 2|7} UASHCE

[Sxeym-

N

. [These holes made their skulls lighter.]
o] THS2 MEME O 718 ol FASLICL

Vocabulary Focus

EHO{E UR2 Kot AZSIM2.
o2l ----b. 2oLt Cf2|
e[t -~ - a. ARO[t S= M2 b

SISt -~ d. °E* E'ﬂ*i L@t

C

PN 2O
oo

E2EE 2%ab| sl HiZiofl Y2 HolE 2t P

(5 CHS wiziol| YX2 CIojE TEMQ, M2,
3K/ & o2l / AT/ FYE M2l / ZUCH / F O] / FIfSICt
/ REACE
1. 32 2F U 7Hel Ci2|E 7HK| AASLIC
[limbs] Dinosaurs all had four limbs. Their skulls had
2. ZEo| Ha|ol= 2 2HS0| QUSLICH large holes. All dinosaurs laid eggs. Baby
[holes] dinosaurs developed inside eggs until they
3. & ZE2 US SUELCL [laid] were ready to hatch.
4. Ol 382 S0 S LUSLICL  [nests] 382 2F Ul 79l Ti2|E 7HK| JUUELICH 3B

.I

H2|ol= 7Cizt FES0| UAMSLITE ZE SB2
oS FUSUCL M7 SE2 Ratet ZH|7tF 2 Wik
& £0|M XS,
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Science | UNIT02

of HFRLICE mek2 R/t o1, F, 32|10 Ao 2= XS Ofshist=s =okELICt
2 ASS 2URiLCh OS2 HAE S, Rt 7H A2

o
200 | R0l BE S THBICHE S LABSLICE DSXISS ot 70| Ab|S S7aiic,
Al o

Comprehension Checkup 1.T 2.F 1.a 2.c 3.b 4.c

Vocabulary Focus 1.c 2.a 3.d 4.b
1.knowledge 2.variety 3.tiniest 4.space

Grammar Focus 1.and 2.and 3.but

Summary search / truth / variety / discover / mysteries
| Reading Focus | 19p. | 20| e U SHA] |

| Vocabulary | 19p. 1. YRPt 2| FHo| IE 7SS AAMSHCH  [T]
- search @ EL XAt 2. QX st Z&0| ufsto| U&LICE [F]
-+ truth (@ Z12], TIAL AR
- knowledge & XAl 71 L2 EE TENL,
. ; o OX

universe £ 1. 222 Sojo] Bt 2R [a]

b. 22[0f|A Ztsto] ZRst 07

c. CIofst Z20| pjst

- mystery (& AlH|

| 22 X1 | 20p.

- life science MHu}st

FA O| 27t HE Olslisks A Z2AELIN? [c]
a. 571 227t 4= olalisk= A Lc.
b. =
c.

e
A=

EX7E 22|71 42 Olalish= XS S&LICh

%2

i ETE ETQ

- physical science Aot 510| S2[7F AL 0fsHEHE 2 Lick

+ Earth and space science X|712ZF1}st

- material science X{Z st 3. TSRS Uxhol| LA DS BHASHAL (7P
a. #Xk= CHE o ZEC o 30} [b]
b. ®Xj= 7F 22 SHo|ck.
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4. CHYY, ZIIXI T A ---- b. 02| 7IX| B2 BF

1o

() CIS Hizto] YL CholE m2Me,
R/ 2R/ O / oS

1. 2ek2 Z2|9F X|Ao)| chigh BT LICt
[knowledge]
2. ISiAh= OiR Cr¥et WS SFFELCh  [variety]
3. Hik= 71 A2 220N, R2| FHQ 2= NS
T [tiniest]
4. 1SiRl= 230 AHIE AHELC [space]

L&A and2t but
T&EAL ands ~ef/1tf, ‘az2|1'e| ojo|E LiEf-LICY,
but2 ‘TILI'Q| oJn|Z, o] Lt Fo| 20| LHEE 0]
£ If ARSEILCE

AR TS IEN L,

-
B
]
I'|0

Zl2|2t XjAof ohet Bt LICh [and]

2. TSRSS 0f Clt ASS st MEE A
Mg Wz [and]
3. 1= MY ARISHRIH XIS BRlLc  [but]

ZES 2517 sl HiZi| YH2 T E St AR
ML,

Cietd / &dsitt / 2e| / Al / g7

Science is the search for truth and
knowledge. Scientists study a variety of
things and discover new facts. They also
study the mysteries of space.
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Science | UNIT03

| 22 o | BHto| W
k2 ojZo = AIRFELICE Jloiet MEIXE2 25 ARY7IS0IREUICE IS2 40| BlIX|= AZESS 20 A
SLICL IeIXE2 +R2 Floieh 28ut LS 2, 0l FAlQ] 2FYS HEtAA JELIC

2,0000 A Hof, J2|A Arg7 Of2| AR A= AIFHSO0| XIS Hi2tE D K9] MZts AlS| ffoh &es
dliz A2 FIUSUCE H2 WSIXS2 Of2[AE Y| ANAHM HetS ot RASLICL,

Comprehension Checkup 1.T 2.T 1.b 2.b 3.c 4.c

Vocabulary Focus 1.b 2.a 3.d 4.c
1.begins 2.posed 3.changed 4.influenced

Grammar Focus  1.Science begins with problems. 2.My father goes to work.

Summary solve / made / look / experiments / influenced
| Reading Focus | 25p. | S0l e U SHA |

" FICHE 2SRISE PSSt 20 AR Comprehension Checkup

- OlZ| AR AE FTRALUR?

e 2T2 TE, UK o4 2N FE 12N,

| Vocabulary | 25p. 1. IISIXS0)| ofst Lot L740| HAE HSIAIA 2t
- thinker [ A7} =8|} [T]
* solve & Zt, si=olCt 2. ORIAEHR|AL ARIS0| XIS MHEY|S 2R
- pose & (Z22) M7 [5tCt SLic, [T]
- invention @ L3(E)

- discovery [=)gt74 71E YUS2 EHE 12N,

* recommend (& £Zoict 1. 222 200) B3t 2L [b]

.

nature @ Xt
experiment (2 A&

.

b. afsht 2

c. Ol2[AEHI|ARL 0| 274

influence €/ ¥&k 77|X|ct

| a2 X2 | 26p.

2. fef2 RSt el AREUI? [b]
- The great inventions of humankind a. 371Al
ol=o| 9l b. 2H
- car &t c. Zat
- satellite /A
" airplane H[27| 3. RIS PAS of UBLIN? [c]




a. U2 SRo| SAE U=0f 5L
b. &2 ZHE S0 RELICH
c. W2 LI LAS 5 RS

—?—91% i”él—lﬂf? [c]
a. 52 FAe| IS HHRtELICt

b. 352 U2 2HE M7 [REHCH

c. JS2 Hgls HAREUCH

Vocabulary Focus

() OIS OIS o2 at AR,

1. AL b. 0| 20| M2I5H Al

2. Y@ - a. OfF %o HX

3. Xiel-- d. AlRlo| BHS| 42 0| Ml 2E 3

4. A3 c. 20| el 27| UM st Dt
501 AJg]

1. 2tek2 2|2 Al AIZFELICE [begins]
2. WEIXIEE H0| M7[sk= EHIE sidstn HUE
LIC, [posed]

3. LU YA S| IFYS HSAA JELICH
[changed]
4. O2|AEHR|A= U2 DISIXISOAH Fots FUS
LICt. [influenced]

3918 Et4 02 1f BRY AIR| St Sl

3213 T F0f + [SAHHE +-(e)s]
M AlMI 2E0A 017t 32 T M SAk=

(SAFRIE + -(e)s)o] EH= Mof zru:r.

* [fR2e] SA+-(e)s:
begin —begins / go—goes
* —y2 BlLl= SAlE yE iZ2 UL 4 -es:
study —studies

ZE T TOIS HIZA| 1T TS 2ES CHA XM,

1. [Science begins with problems.]
el2 ojFZ o= AREILCE

2. [My father goes to work.]
2| OftHX|= &|Atofl CHElLICH

EEE 2%a1| sl izl YH2 HolE St P
L=

2o/ A/ 20/ USEAT / S

mjo

Oj3Ct

Science begins with problems, and scientists
want to solve them. They have made many
inventions and discoveries. The Greek thinker
Aristotle recommended that people look
at nature and carry out experiments. He
influenced many scientists.
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| 22 s | HIQULI2E Cf 2| Z8|L ZE[0]

AU Cf HIXI(1452-1519)= SI0IRt Stat, T3 LapIGsLIC T dalEe, Bj3y|, 2aln Hep

o M7= JFELICE AERDIE, HA| 7152 15 oft 2 4 5t5

2222 2e0l(1564-1642) FZSIROIR} 7|7 HARIGELICE T YRS S EIQAS BsIRIA X
o

T7tEY FRIE =0 ARE YSRELIT

I I
Comprehension Checkup 1.F 2.T 1.2 2.c 3.b 4.b

03
1L

Vocabulary Focus 1.d 2.a 3.b 4.c
1.scientist 2.drew 3.astronomer 4.moves

Grammar Focus  1.moves 2.gives 3.goes

Summary plans / built / proved / moves / telescope

| Reading Focus | 31p. | x| XEH 2 A |

- AleUEE O HIXI= OfF A0IRILR? Comprehension Checkup

- 22 ZEH 0l o AR0IULR?

| Vocabulary | 3ip. 1. deU=E ot HIRls HalgES PEUaL,
- painter @ 3}7} [F]
- inventor & g7t 2. Z2e|e 2ol X7t Y RIS Erhs %
- plan @ EH &A= S ol=ahaL |t [T]
- parachute @ =5t
- astronomer (@ T2} 71 U2 HE TEML,
- instrument 7|7, E7 1. =22 Dojof st UL [a]
* prove 5/ 5ottt a. DB} QLR T Of iX|9t Z2la| 2l o|
- telescope & 2/ b. HQUIZE T} HIX|ot Z2a|2 Z2izo|o] 2|
c. HRUEE rf Bix|o] Flg we z2ae Z
Zzyjo|
2. YRUZE t BIX[= SRHELIR [c]

a. MZSKASLIC
b. 7|7 HEXIREUCE
c. SPIRELICE




3. 22 2220l +7USLIIN? [b]
a. IR
b. MISIXIGELICE

=

c. 22t 7S

4. 20 MEH o= X0| ALY [b]
a. dQU=E of HIXl= HYatis s + AU

Lct,

LR 2220l EfAASE 2EX

c. HlQL=E ot HiXl= 222 ZEo7t ™
AL ElE AE ERELIC,

F

Vocabulary Focus

() CIS TiolE Yot =af Gz,

1. sPt----d. J2E J8l= A

2. ISR} a. it S A5k B3Rt
3. =0 M= - b. 7|9 BE BES HO| F=
I

4. YEF---c. MES O 30 O 7R 20|=%

DSRt / M2SIR / 33/ 2RIt

1. RUEE Cf BIXl= 710X, iRt J2|m &
H7IRELICE [scientist]
2. ZUI2E Ot HIRl= HI7|Qt Uotbite] MAEE
JRELICE [drew]
3. Z2e|e Z2e|ol= MESXI0IRt 7|7 MEXIAE

LICk [astronomer]
4. 222 2 0l= XIF7t Efdel S2E S22

Ch= X& E33MsHCL [moves]

pA, oih, 2|1 oj2Ho| = Heto] l= 2 T2l
et = e I ARIE S

ns

U2 TS 12N,

1. 3 R ERY RIS SEICIE A BT

ELl [moves]

2. Li= Ef0] TS WiCH= AR HigisLICH
[gives]
3. 147t Ol X7t FRIE =0t WA 2ol FUs
LIct, [goes]

EES 29517| 2ol HIZHol| L2 Tl

[T
WK
n
2
H0

33t / LEE

/ SxRICt / =
/ BSofzl

Leonardo da Vinci drew plans for helicopters,
airplanes, and parachutes, but none of them
was built in his day. Galileo Galilei proved
that the earth moves around the sun. He did

it by looking through a telescope.
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| 22 841 | Ofo|%} FEia} EOtA ofc|=
Ot0|Zh FEH(1643-1727)2 S2ISXI0|K} +SXIRELICEL = ot K HAYSELICE J= BH0| Y F2/9]
H=0ll A (A Sk 2ol ZXE Hoj2te YAMSUCE 25, REl= 0] g SH2= ¢U gL

E0fA OfCI2(1847-1931)2 LE7IRELICE 2= 124 mf, 4522 gL, 3= 2
2l 7h= T7et HHE2IE HIRSI0 1,0007H 042] YHES HSAUSLIC

=
1
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k=]
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3
ng
;
;_sz
v
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Comprehension Checkup 1.T 2.F 1.c 2.b 3.a 4.c

03
1L

Vocabulary Focus 1.b 2.a 3.d 4.c
1.studied 2.force 3.deaf 4.inventions

Grammar Focus  1.forces and light 2.the planets 3.this force

Summary physicist / studied / gravity / inventor / batteries

| Reading Focus | 37p. | 2l e & i |
. OI0|&F SEIS OfiH AIZHO[QILID! "

Of0P% =EIS O AZOIALIR? Comprehension Checkup
+ E0A Of|C|&2 o ARZO|ILIR?

x| Y= BE2 FE 12ML.

| Vocabulary | 37p. 1. 22 AO| QU =9I0] HE0 AL UA B
- physicist & 22|58k} ct. [T]
* mathematician [ 45{x} 2. E0RA OCI22 EoftS , 77t S2IX| YL
- study = HF3ICt ct. [F]
- force & &
- light 2 7he agte gg naMe.
- orbit @ H= 1. 222 290 23t 2L [c]
" gravity B&H a. E0tA 0CI20| ZIT, 0f0[A}
 suffer &1 T} b. EORA 0fClA0| HEHS B2 0f0%}
- deaf @77} B, 22} Foje c. 2SR Ot0|a} FELTH EOHA ofcks
- light bulb & F7
2. 0j0IE FEI2 RS ARHELIN [b]
a. & +3RISS ARYsLC
b. T Bt g HpssLCt
c. 1E 22lsixise ARyt
3. EORA OICI22 of 77t ESLIR [a]




a. 98 80N

b. EfOIE WRE 77t ZOIM
c. ol 30l #E oM

4. 7t TEet HiEZIE LRSI [c]
a. Of0|&} =&
b. HQUEE C} HIX|
c. EOfA ojci:

Vocabulary Focus

210

2.9 e, 5 Tk 22 Somv o
4o 71

3. 53 d. Bo{g7l= XX B

4. e c.s2a8s

g/ A EER Y / BT [ EEE)

R SES B2 S SPREUC, [studied]
el 9l) A0l Ak
2 s 20| Ex4e 20PHe AIE HEREL

Cf, [force]
3. E0fA 0fC|&2 HEES At H7t S2IX| ¢
ERSLIC [deaf]
4. E0IA OC|&2 1,000707F H= UEES OIS
St [inventions]

Sxt0| 0] El= 23i0f

—_ =

SAHFOl| BAE 201 2n|E LI w7t UELICE O]
YAtz S22 thyo] =i ‘FX0f (object)2ta i
Ch. OIE £0 ‘FoE SFaolChet= QoIS LIEHhAH
study English2 M, ol English7} S&0{7} &
Lict.

Z} 20| ZX0jofl Sa2t01F XML,
1. Ol0JE} FEIS BTt WS ottt
[forces and light]
2. o Elo| B 2 Ao BHES AL WA &
LICY, [the planets]
3. R2= 0] glE Bz U JUFLICE

[this force]

ZEE 2%ab| sl HiZhofl Y2 HolE 2t R
M2,

gty / opsict / =3 / HiE2| / S2|5kKt

Isaac Newton was a physicist and
mathematician. He studied forces and light.
He discovered gravity. Thomas Edison was
an inventor. He invented more than 1,000

things, including light bulbs and batteries.

0t0|2} wEI2 S2[SXI0|Xt +SIRIASLICE J= St

—
WS STSAUCE T B2 WARSLIC, E0tA

. = T2t HHE2IE Zefol
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LSOX|ALE HEEE M22 AS2 LBS02t SUCHL AFE} A= 2RS0| M3 USRS

=
=

e

A

ofolciof st HE0[2tn £ 4 USLICEL I SHQISS BED 1 0 IS Uit 00V IS £ 4 g

LYE2 R2UE flol YES o H2lokA| S0 FASUICE HIF= HIAZEIDOIMN XS ABERSUHC S0l

Comprehension Checkup 1.T 2.F 1.b 2.c 3.c 4.b

Vocabulary Focus 1.c 2.d 3.b 4.a
1.created 2.called 3.easier 4.used

Grammar Focus 1.were 2.are 3.write

Summary make / new / created / inventions / easier

| Reading Focus | 43p. | 2x| FE 2 iy |

- W2 FAIR? Comprehension Checkup

- Ofo|Clol= FAeI7R?

U= 2T TE, UK B BYSFE
| Vocabuary | 43p. 1. YUBL Yrel= 2L XEYULIC
+ create & & ST 2. HiTls S0 HS ASESLICL,
- invention [ YH(E)

+ idea = 0o||0}, 42 THe ye gE 1ML,

- writer @ X7} XX}

- character @/ SZ0IZ, HiY

a. A2t SHRIE
. ier [& 2 O m2|st 5
easier & O +/2, ¢ Ha|sh b. SHHO|| ZHSE AFAL
- wheel @ HI3 c. 7Pt e YHE

- paper [ 50|

a2l
e a. 92 WIS HEYALIC
* wheel 7| b. 227t o HREQI Ago| HES e

* paper 30| c. 229 42 o & S0 FASLICL
+ magnetic compass X}7| LtEIT
- parachute S5t

1EM



3. 20| M=H F71 SHRIES O o USLIN? [c]
a. IStKt
b. ZFEE UE MRS

c. &7}

4. 30[= ofC|of M LE=IRASLITF? [b]
a. O|AIZEfO[Ofof| M
b. S=0IM
c. FHLiCiolM

Vocabulary Focus

1. XS ----c. ME22 X2 2tEd

2, X7t----d. ME M= AR

3. H}F ---- b. XSALE XA ofzhof = s
A & ot

4. B0|----a. SNE HALI O8I J2|= a2 =2

gz /[ A8E / 22 [ ~EnEdl=

1. USOX|AL FZE M22 AS2 2ES02tD
=

=gLC, [created]
2. O[O|C|0f TN HBEFLZ =7 o UBLICL
[called]
3. 2E2 R2/Q 42 o oA TS0 FUSLICH
[easier]
4. Hi#= HIAZEOMA MZ ALZEIUSLICE
[used]

Z0{et SAfQ| 2| EK|

Chy |s/was/EA P -(e)s(LBISAL

]

1
49
i
o
®
~~
=
@
D
\
>.
¥ (]
ogl
e
re
02.'"1

A= Al 2 9l Ziap Al
AN 20 A 4 U= 24 FATH R0 E2
St X2|0f beSAZ 2H areE M1 UHEZALL @
M SAIRISS SLICH beSAEMQI T4 AXY o=
t= 20101 was, =5 F0{0fl= wereE MOF SiLIC.

0

1. ZFE A= S0 IUSLICE [were]
2. ofo|c|of FESH WHFO0[2t SELICE [are]
3. Fl= SA0ISS TtET O e IS0 st of

OF7|Z ZLICk [write]

EEE 2%at| sl Hiziofl Y2 HolE 2t P
M2,

2 / €38 / Mz2=2 / TSt/ E=E

When we make or create new things, we call
them inventions. Ideas are created, so they
can also be inventions. Inventions such as the

wheel and paper have made our lives easier.

FETHMER AE HEAL BXE o, Q2= ARE
= L3S0zt FEUCL ofo|joi= X
0| 2 & UsLich v 50| 22 L2 229

aS O g S0 FUSHC
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Review Vocabulary Test
1.gravity / &2 2.universe / 2% 3.experiment /A& 4.nest/ SX|

1.limbs 2.knowledge 3.astronomer 4.created

1. h a t € h

2. b a p e B

g d e a f
4. o 1 B8 n

5. i n v e n t i o n
6 v a r i e t y
~» create

Review Grammar Test
1.had 2.and 3.studies 4.begins

1. The earth moves around the sun.
2.People carry out experiments to test their ideas.

3. Paper was invented in China.
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[universe / £F]
ASh= DetERl Al
[experiment / A1
[nest / SX[]

BT

[knowledge]

. 2222 Zeol= HBSRIOIR} 7I7 A

Lict, [astronomer]

SR FZE MER AE2 LEE0|2t

SEILICL [created]
© TES 2R
1. Y aoz Lrt [hatch]
2. SME HAL OIS J2l= A2 2 [paper]
3. S8 [deaf]
4. 7|79 2E 2EE B = 18 [plan]
5. O A9 FZ [invention]
6. 02| 7iX| B2 R A= [variety]

AR} okl 5t Thoji= 2NTIR?

[create(&Z5}C)]

Review Grammar Test

. 3EQ mzfitoll 2 7ES0| AASUICL  [had]
YIS, xRt RFukel Mz kst S0| USLICE
[and]
3. = HstuofN HoiE 3Felct,  [studies]
4. 2IS2 O|FO = AJARRILICE [begins]
(5) L& 21 CHofS HiE2A| 23 CF2 28 CHA| MM,
1. [The earth moves around the sun.]
K= B F9IE UL
2. [People carry out experiments to test
their ideas.] AIRS2 A9 MZES AlRaH
H7| 2ol Aets HARILICE
3. [Paper was invented in China.]
B0l= 20N LE=ASLICE
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| 2 2 S-S Holt2i7IILICE O] ChES] 0] QUi StiA M2 A0 7F 71 AtetelLIct, T
S oM H2Z 0|01 QUELIC

Ol0fE Z2 MoAM SOo2 S=HA Holn2|7t thES 71ELICE JA2 LIY Z Ci2o2 MAAN & HrZ 71
pAyd|siny
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Comprehension Checkup 1.F 2.T 1.c 2.a 3.c 4.a

03
1L

Vocabulary Focus 1.c 2.a 3.d 4.b
1.western 2.spine 3.flows 4.longest

Grammar Focus 1.from / like 2.to 3.after

Summary fourth / continent / side / cuts / second
| Reading Focus | 53p. | 2x| e 251 |

+ Qi A A2 ofciofl ULtR? Comprehension Checkup

- HPAOIA 712 71 26 201017127

U= BU2 TE, WXl b= EE2 FE 1E2M 2.

| Vocabulary | 53p. 1. OlOIE L 20N Loz 5L} [F]
- continent = CiZ 2. MAIA 7H 71 42 LY Zduck [T]
- western & ME2|
+ chain @ X2 0|0{%I 74, & 71 L2 EHE TENL,
. CH =

run & 22|t S0t 1. 222 200 Bst 2ULI [c]
- spine (2 Stif, 2 . OtTf|A Atah

- river 3%

- flow & S2C}
- west @ AMZ
- east (@ 3Z

- QI A A OMIRE Z0[ U= HOHH[Z7}

2. MAOIA 7HE 21 Atohe 2o11L|7F? [a]
a. Ot A AtoH




Eotd2[7t

4. A M2 LA 001K AUSLITF? [a]
- S0IM H2Z 0]01H RUFUC
- MoilM S22 0[01A QL
- HolM S22 0]01X RUFUICH

T o
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Vocabulary Focus

() LIS oS o2 at HASHIR.

1. 0E - c. O LRIZ FEE0 A= 1R 2 &
INPAE:

2. S, HF---- a. 39 SHS w2t 2A W2i7t=
°Ia1g| uu1

1. QtlA A2 EHotr2|7te] MEo USLICE

[western]
2. QthlA M= OFX| SHME S0ilA 222 0[0{A
UELICH [spine]

3. OMIE 42 Mol S22 SELICL [flows]
4. OlOFE Z2 MAIA S HZE 7+ 71 ZiLch
[longest]

x|} like, from, to, after

HXIAE AL THEAL 0] 404 THE BAHLt CHEAL

o] BAIS LEHH= LRLIC likes ~AHQ X5
LIEILH, from2 '~28Ef, to= ~7IX[ 2| 20IE Lt
EFEILICE after= "~2f FO, '~ 20 2 £22 M
YUk
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i)
[>
rx
12
rlo
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X S0M 22 0|0iK US

LICY, [from / like]

2. OIE 42 MolM S22 SELICL [to]
3. OMIE Z2 L & Ti2eZ MAIM F HiZ2
2! ZdLct, [after]

ZES 2517 sl Hiziol| Y2 T E St iR
ML,

/ XECH / U gmel / & #mel / oS

The fourth-largest continent is South
America. The Andes Mountains are on the
western side of the continent. The Amazon
River cuts through the South American
continent. It is the second-longest river in the
world.

4l Hm2 He tE2 Hotm2(7 LT QtHlA Ao
11 thEe] MF0| ASLICE OforE 2 Hotm2|7} th
&2 XILPiH ZHELICE JX2 MAIAM £ Bz 21
LYk,
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M
o3 th22 X0 ZlfEto| thEQILICL IR Y30f o Ty ¥l 2 thElLIc
30| o 98%E= U0 SIH0f UBLICE 0 2SS Hoj= 1.6220/E(| SHALICL UF (fES BRsoz

7K ZUZBH0 71 BZO| 20| B (S, IR A= oKl RULICL H30IM 7
02 A= A2 YU T2t BSIRISS 14 L U S0 HRA0N AT iU,

Comprehension Checkup 1.F 2.F 1.b 2.c 3.c 4.b

Vocabulary Focus 1.b 2.a 3.d 4.c
1.southernmost 2.covered 3.thick 4.permanently

Grammar Focus 1.covered 2.considered 3.made

Summary continent / fifth / covered / considered / permanently
| Reading Focus | 59p. | 2x HE W sy |

* 52 Ol AL=? Comprehension Checkup

- 30| Yl oferle?

U= B2 TE, X Y= B2 FE 1EM Q.
I Vocabulary | 59p 1. LI:_I}Q[ H X|-_rL°| | 0|A|_||:|, [F]
- southernmost  %/Ete] 2. L3 T8l 90% Ols7} 202 Hoj aLick

+ South Pole &=

- cover (8 EC}, XX[GICt
thick & S22 7HE U2 HE 1EMQ.
average & Tz

- windy [EHIg0] 2=

.

1. 222 FXol 2t S

o a. H3 tig ol 220] 2oit £712%|
. i = AZHS e
consider & SBIC esict b. US| 58 K3 YR RS
. of] Ap3k
desert A . 3 thS0l of ARt OPAXI=A]

+ human [ 217} AlZ
permanently ¥ H&s|, 7xo=Z2

.

2. =3 tis0| ofclol| ASHII?
a. H= S22 =301 AsUC

al
| 38 X2 | 60p. b. B3 L& Holml2i7to) 2leLick
+ Antarctica &= c. U2 g U20)| QsLct

- Antarctic expedition == £

43 U P02 Yol UBLIN

[F]

[b]




4. NRHSL U2 122 2o0jztn BELI?  [b]

Vocabulary Focus

£hof
. SR - b, 2 AlO|2] H2 7t H
HIZH0| B= - a. HiZho| T2

A2k ----d. H|7} HO| 2X]

. OIZE AR e AR

C

1>
o

AR Kt HESIMR.

PP oo

©

C}g Hizhj Y32 EHOfE TN,
B0j s / Al / SH2 / guHoR

1. =3 UE2 X7 2gHe tHSYLIC

[southernmost]

2. =2 50| o 98%7t 202 FIE0f QUBLICE
[covered]
3. 53 (182 ¥ Y= USC A4 16120/EY)
SaelLct, [thick]

4. =25 HS0M SFHo=z A= A2 SlELI

[permanently]

TS beSAL + D7AEAL

SA9| tio| == 2| Z0f Xi2lol| 2t B= Aol 2|
off ~=theks oot &= X sSEeta uct 4~

SHIE S 0 SAE (beSAt + THEADC| HEZ
SLICL ZAZAE SAIA HEE HOYLIC

AR TS IEN L,

-k
=

29| & 98%= 22z FH UASLICH

[covered]

g

222 Ao 2 oAZRILCE [considered]
ARER A= X3 USRS O YHS0USLICE

w

[made]

2EE 2%ab| sl HiZiofl Y2 HolE 2t P
ML,

CHEmel / d7xe=z / s / #EY
/ ~2 AR

Antarctica is the earth’s southernmost
continent. It is the fifth-largest continent and
is covered with ice. Antarctica is considered

a desert. No humans live permanently in

Antarctica.

5= U2 X7 +I 9I CHEJLICE X2 o B
n= 2 So|H, & I 104 USLICEL = UE
= Aoz 0=|71"'I-I f = RN FHHZ A
= A2 SlELCt
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| 2251 | EF
71E 22 2 HEEYo| Q= SF AL OxX2 ® oF LI2EE Ql= Fst IS QILICEL OxRe| U2 2&0|
Algol7| 2|, sF= =22 Mot 2E HE & AH0| 713 MEL
S3= 2E LM thR0M Ha| HoN 7| HE0], IRl SE52 MAQl TE X0l U= SE5ue S
20| ERMSLICE
| &E |
Comprehension Checkup 1.F 2.T 1.a 2.a 3.b 4.c
Vocabulary Focus 1.d 2.a 3.c 4.b
1.island 2.contains 3.far 4.contact
Grammar Focus 1.is 2.was 3.are
Summary smallest / contains / except / far / developed
| Reading Focus | 65p. | 2| e LY |
. —Xl— I_r:. = = .
%= HH=S H2lohl = S SO Comprehension Checkup
71 MEO| M2ItR7
- M SO SEE2 2 STOMDE LHHILIR? U= B2 TE, WX Y= 22 FE 12ML.
1. ZE U & 33 US| 71 M2 AIRE0| UE
| Vocabulary | 65p. |_||:|._ [F]
- island [ A 2, SF0| e HHo| AfaklL|ct [T]
- contain %01 QACH =SSt
- partly £ 22802 7FE UB2 HE TEM2.
" except @~2 H2lst 1. 222 Do Bst 2R [a]
. ~2HEE| Ha| W X| _
far from ~=7E| Sel E0iE a. S0 3 AT SI%]
. = HICHS At
develop 5 WS MRGICH b, SZ0| A= A=
. X-Ix X-Izs_— C| _
contact @ & =5iCt c. 53Xl =2
2. 3 &2 ofClof] USLTI? [a]
a. HEfEYol|
b. SEfZo]|
c. 920
3. 30| 2hell F0| AFMRIL|7I? [b]
a. Afho| SiELC,




4
oy

Li2h2h QS
== & o Ui Zh7tolof ALEHCE

o
[l

4. 0= CHE0| AR2H0| 7}&t B&L7R [c]
a. Hoim[2{7t
b. %

c. g5 U=

Vocabulary Focus
(A )"

1. 8- d. 22 S2IMQl

2. ~EHIOEL - a. ~8 EEEH 92
3. H----c, 71 72|12 ozl

4. LISiCt-- b. Yk Haksict

oo

=y

AR Kt HESIMR.

[island]

2. S&= T ot Hel L2t S0 Qe FYst tiEY
LIct, [contains]

3. S UE ZE RS2 Ha| BoN UsH
Cf, [far]

4. 357°| =2 M/ ChE X|He| S=1te| FZF Qo]
wetol gELch [contact]

much& many

much + £ SAk B2 ~0]
many + S5 Ak B2 ~0]

much@t many= ‘E2'0[2k= X2 BAIZE AREHE
LICE muche 2 & 9= A9 ‘Y0l 22 mf Asty,
manyE ‘97t 22 of Lt muche 4, many=
42 Fgob7| H2of S AKQ 2FoM muchZt
Z0|2 QM T SAIE M1, many/t F0{0|H 24
SAE ARZEILICE

1. 339 W2 F20| AfRfQiUct [is]
2. 1 ol U2 20| HSELIC [was]
3. O5 3 U2 MES0| ZARSLIC [are]

ZES 2517 sl Hiziol| Y2 T E St iR
ML,

o/ P RS /Wt / ~2 Xl
/ masich

rol

Hl
gon

The island of Australia is the smallest
continent. It contains just one nation.
Australia has the fewest people of all the
continents except Antarctica. Australia is far
from the other continents, so its animals have
developed alone.

5% M2 7P = tigelLict, aR0l= BX| 3t JHol
L2t ULk 370l =3 thse Melshn RE
oS Jhed| Ji M2 Aliso0 QlaLict 55 tige
LIHX| CHES2 2| Ho{Y UM, 2R S22 =
=2 I:IH:I-BH QA |_| |:_|.




| 22 sii4] | ofmI2|7Ie| 2kA

OtH2|7} EFRIS2 OfH2[7tofl A X|Z=2| MRS

{0

224t B2 A

2Lt J= SOHHE|710] SFASLICE = 1 Afs
=ZHA 0|2, o2 Li2te| EE7I=S0] ott2(7 o]

-

==

Comprehension Checkup

Vocabulary Focus 1.b 2.d 3.a 4.c

0| X[t =, Be7IS0| RENA OfHZI7t= RELich 27| geivt ot o

REUCh SHHAE ADRI0IM S AIRRISLICE

K
w
i
E
My
il
T
>

Sfoll Soll, = oAt CHE2Z 711 QITtl ZIHSLICY,

Lct.

1.b 2.b 3.a 4.a

1.Explorers 2.sailed 3.continent 4.landed

Grammar Focus 1.explorers 2.Writers 3.Farmers

Summary live / explorers / sailed / Spain / landed

| Reading Focus | 71p.
« JRAET SHHAE O ARRO[ILIR?

- B 03, R 0| H7ILIR?

| Vocabulary | 71p.

- Native American O(H|2|7t 52!
- however & 124Lt

- explorer (& Ef&i7t

- early @ x719|

- sail [ &sHoict

+ land [ =25IC RS 5HCt

| 23 X2 | 72p.

« Columbus ZZHA

- sailing to the New World ANAZ2| Sf6h

ENEERET

Comprehension Checkup

&

MY

23

b

x| ¢

rr
1t

rio

FE 12N,
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rlo
ufn

TS,

1. ofml2|7tofl A Z|ZQ| ARRS2 Ofm[2|7h HF2I0|

pr=ialm [T]
2. SFHHAE= ORA|Ot =AREELICE [F]

1. 222 Sojof 25t 2L [b]

2. F2|AET SHHA= O AFHOIRASLIZF?  [b]
a. ofm2[7t &z
b. ofm|2|7tofl ZF eIt & et
c. OtAlofol| =2t

rd

St oty

oo




3. SPHAE XH0| ofCof =ARRACtT MZgEL
e [a]
a. OfAlo}
b. SoiH2|7
c. ‘gotoz2[7t

ZHHAE OCZ 710 HUSLIIF? [a]
a. OFA[O}

b. 3%

c. SotH2|7t

Vocabulary Focus

Etof
Ofofi2j7t 42581 - b. Ofufzizt Qlcief
EEt--- d. DIXIe] RO2 04 THe At
SRIC - 2. HMS EIT B 9I2 OfbCt
EEBICE, AZalCH - . I L b SO of
ci7lofl Stk

C

oo

U2 Kt AZSIMIR.

O

() Ch2 wizio] 232 ClojE T2ML.

in}
EiT
H‘|
1
3
(u]
~
ol
OoT

HHCh / BreE

1. EeVIS2 REIA o272 ZESLICL
[Explorers]
2. EYUHA= AHQIOIMEE SeiELICE [sailed]

3. goll B0 SEHA= OAoF IRCE 7t QlCtn
MzEiEL|CE [continent]
4. ZHAE= SotH(7to ZARISLICE [landed]

explore2t explorer

SAt+ -(e)r — BAH~GH= ALR)

explore= "B&oICl 2tz Ko SAILICEL SAt Fof
-(e)rg 20| “~al= A0zt Ko BAH ELIC
explorer= E&lsk= A, & B&rtels Kol Hof
7+ Euct,

farm(sAt BICH — farmer(s8)

write(MLH — writer(X17h)

paint(722|C) — painter(3t71)

1. B2 ANEo| X[t £, EE7HS0| REIA otHZ|7t
2 5Lt [explorers]
IS SERISS UE & UBLICE [Writers]
3. SES2 AES &7| floll Lt WIIE MEIMSL

ct. [Farmers]

EES 2%a1| sl Hiziofl Y2 HolE 2t R
M2,

Native Americans were the first people to live
in America. Many years later, explorers went
to America from Europe. Columbus sailed
from Spain and landed in North America.
otm|2|7t #F2I2 otm|2|7 (o] AF Z=O| ARISOIUE
Lict, B2 Migol Xt £, ElRi7S0] FE0IA OHHIEI
7t= S SEHAE ATRIOAMSE] SfolisiM =
otH|2|7 1ol =&RELICE
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| 22 5y | £HXE(EIE Ti2)
= XE2 HoIS2tRi2ts S Bt I=0lM 0|52 2 F2|2] MHS0USUC XSS S= w29t
o SwH xf0| 20l F== MitSLICh
=HAE2 S2|HAcks MRUXIE MRSLICL AZIX=E OE U2te] SXIE Ee XYL S2iHA= =2 &

XS LASLICEL MUUXol| Ak AlFS ALX| F0[2te fELIC

I |
Comprehension Checkup 1.T 2.F 1.c 2.b 3.c 4.a

0
1L

Vocabulary Focus 1.a 2.d 3.c 4.b
1.called 2.religious 3.colony 4.ruled

Grammar Focus 1.from/to 2.from 3.from/to

Summary traveled / called / built / colony / ruled
| Reading Focus | 77p. | 20| e U SHA] |

HAISE of E=s HalLie? Comprehension Checkup

Sa|0jAL 2o0UtR?

—— T A

U= B2 TE, WXl gi= 22 FE 1242,

| Vocabulary | 77p. 1. 2HXIE2 H0|Z2IYSE Efn ofaiisLICE [T]
« Pilgrim (@ £3XH0{7 [0 M= 0|2 £|=2| 0FKI2! 2. 2HXES = R0 =2 gLt [F]

=72 o A(Pilgrim Fathers)Z 712|7 = L2 M

2) JFE Lo g n2NQ,
. 5

travel 5/ G{A5iCt 1. 222 2000 Tt SULF? [c]
- ship @/H =

ship (2 Hi a. Ho|Z2t =

religious [ Zwx{0!
difference & X0, CtZ2 &
colony (& AlDIX|

Plymouth & Z2|HAGZ HME
rule S/ SX[5ICt (= HZ!
colonist (& AlTIX| =8

b. SWHCI X0

c. XS S2HA

. .
OII

0

=) 2. 2BXISS OfH AZSOIUSLITR [b]
a. DI20A FZo2 o3t ARISo| Fict
b. 1 (20| Y2S mit

A
c. S2|HAE SXIJUE NSl &H

.

3. =AXE2 S=0IM Tl ZSLF? [c]
a. OfAlo}




c. ofm[2|7t

4. MoIxls 2L [a]
a. CIZ Lizto] IS e
b. CI2 LI2tE XHHsts 2
c. O}29| X[HHE P

e

Vocabulary Focus

() LIS TI0lE Qo2 SEat 3SR

1. Of#l5ict---- a. 3 R0l Ci2 o= 7t
2. i ---- d. A1 2242 2UtsH= ATkt by
3. ZWAQ|---- c. ZWQ} L=

4. SX[GICE---- b. LI2tZ X|EHSiCH

SuHRl [/ 22l= / XHE = / AlTX|

1. 2YXS2 HolS2te2te 2= i Ef E=

oM OI=2E ofRt3ELIC [called]
2. XSS ZuARl Xt0| 2o F=S HitEL
Cf, [religious]

3. zAxE2 S2lMALty S22 ARIXIS HEYE

LICt, [colony]
4. AMOIX|= CHE Li2te] X|EE Bhe XYLCH
[ruled]

from A to B : ARE{ B7IX|

TRl fromE ~E22E], to= ~IK[Q| Qn|E Zn
QISLICH from A to B= ‘ARE| BIX| 2= 2JO|E Lt
EHHLICE, FXIAL Floll= HFEA| HALE CHEAP} LES
Lt

YoM YH2 TS S2 JiZhl| M2,

~HR| ) ~2BE ) ~9 [ ~0f 2l
/ ~2 Sl

1. @XE2 Ho|22tH2t= HiE Bt E=0iM 0
ZOE M F2[Qf ARS0(ASLICE [from / to]
2, U2 ERVIS0| RE0iA OI=Z7K| ZESLICH
[from]
3. Li= 7A0lM OA7IX| BOIE SSEfL
[from / to]

2EE 28| sl Wizl Y2 HolE 2t 2

AMRX| / oAHSUCt / AR / =2l=

XHiE B=

The Pilgrims traveled from England to
America on a ship called the Mayflower. The
Pilgrims built a colony called Plymouth. A
colony is a place ruled by another country.
Plymouth was ruled by England.

XSS HOIS2REE 22l= HHE Bl HZ0iM
0Z22 HAMSLICE eXS2 S2HA2t =2
ARIXIE HERSLICE AlRIXl= CHE Litel X8

2= XYL S2HAs =9 XHIE 2usH

mu rir
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| 22 s | 0l M=

0=2| #2 FE0| 0|l M=S di7icks Eo| AUSLICEL =0l M= ARS2| KRS wiotn 24 glo] 25S
YHZ Lot Sk M=

0= S5 X[%o| B2 AS0| =0 M=ol Bithots e e R X9 2 AlFE2 =0 =S 7
7|1E HELICE O3S Alojol| 5= TH0[2t1 Sh= HY0| HofktELIct 186510 HY0| EH =, L0 M=

A
on

Comprehension Checkup 1.F 2.T 1.a 2.c 3.a 4.b

Vocabulary Focus 1.d 2.c 3.a 4.b
1.allowed 2.forcing 3.northern 4.against

Grammar Focus 1.against 2.against 3.against

Summary allowed / freedom / forcing / pay / law
| Reading Focus | 83p. | 2l e % iy |

L0 Mz fRR? Comprehension Checkup

.

A =0l 0= =S THO| LoRLIL?

= U2 TE, ¥X| ¢ 22 FE 12N L.
| Vocabulary | 83p. 1. L0 HEs 27to] £ =1 ZHZ ARSI
o law @ 72 US A7 l= M=Lct, [F]
- allow E/3{7}5iCt, 3{=k5iCt 2. 0|2 Y8 X[Fo| AIZIE2 0] M=E &3iELICE
- slavery [ 0| M= [T]
- freedom [ XIS
- force [/ ZHIZ ~otH| siCt 7 ok Eg EN e,
. o A
pay € 8&, 2 1. 222 20 25t :EL%ILIW [a]
. i & ~0f BiCHS
against [ ~0fl Eciotof a. 0| M=%} 0|2 &= HH
b. =0f M=ol Birist HE
a2l
| 22 2= | 84p. c. 0] M|l st s
- Abraham Lincoln 0fjo|=22{3 217
- the Civil War 0|2 &= & 2, 2 MW 0% 22 20| LoELI? [c]

a. =0 M=7t CRAl AP USLICE,
b. =0 H=7t SEEIUSHICE
c. =0 M=7t HEo| HASLICE




3. 70 =0l M=o SRS L7 [a]

a. O}2 S50 g Afzt

4. IZ0IA 0] RI=7} 91| 20| EIRELITF? [b]
a. 0} g% MY
b. 012 g ©
H

c. 0= &= &Y

il
of
of

0z o

>
o Hor

Vocabulary Focus

() TS EOIE YR S0} SR,
1. SP7Isict, S=fSICH - d. OfEt Alo| 2712 o
& EICHT 2Sict

2. ZHNZ ~obA sict---- c. =27t EHItE St

3. B2 B4 a. 3 of el e £

4. X3 ----b. X222 Ay

(5) LIS Yiziol| YTH2 ChofE 12M)Q.

~0i| BKtH)sk= / s7KCt / ZHIZ ~Al7l=

/ 5ol

1. B2 F52 0| M=E 57Ish= B0l AUSLICE
[allowed]

2. L0 Mz= AISC XIRE oo 24 glo] 1
E2 ZMZE LotA sle M=Lct  [forcing]

3. 1 U2t 52 X" U2 MHE2 0 M=t

off $IHo| 7|2 HFHELIC [northern]
4. 0|2 % MYo| B £, o M= Hofl 2ldtst
= X0| =J}SLICE [against]

HX[AF against

HR|A against= “~0i| BITHSIOY, ‘~2 ATH5I0Y, *~
Off AT 52 ojoj= MLct,

1. O L2t B8 X[S9| B2 ARS2 0] Hx=oil B

Chots S EMSLIC [against]
2, 186540f To| Bt £, ofl Mz= ol =
SLct, [against]
3. J%E 72| OfRLIX| 5L [against]

EES 24517 sl Hiziol| Y2 TS Z2t i
ML,

40

B/ 8/ PRI / ZHZE ~AFI=
/ X

In the United States, many states had laws
that allowed slavery. Slavery is the act of
taking away people’s freedom and forcing
them to work without pay. However, after the
Civil War, slavery became against the law.

0l=0lM B2 F0| ol M=E &7kstk= EHol AU
FUCL 0l M= AS0| XIRE it 24 ¢lo|
J52 ZHZE Yot=E Al7|l= M=LICh SEX|2t o]
= HE T 2 o M= Holl fI8teh=s Aol =UE

Lict,
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Review Vocabulary Test

1.explorer / &7} 2.desert / At2t 3.flow / S2Ct

4. allow / 5{7}5ICt, S1=H6HCtH
1.colony 2.contains 3.western 4.forcing

1.religious 2.develop 3.freedom 4.sail 5.thick 6.ship 7.spine

qrmcwy
yrf;\frezfg\

u (d e \J e l 0 p)

\J u n
e m \e)
t b w
u g t
n r s

Review Grammar Test
1.like 2.against 3.to 4.considered

1. Much of Australia is desert.
2. About 98% of Antarctica is covered with ice.

3. Many years later, some explorers came to America from Europe.




| 2 YE & sy |

Review Vocabulary Test

() gue clojel 2| =2 MNL,
1

i

2. H|7t 719 @X| ti= et A= K|k
[desert / AfEl]
3. TEstn AKXl SE M2t Z2lo|ct

[flow / Z2LC}
4. ofw AjZlo| 2712 s =ctT sict
[allow / 3{7}SICt B{=tSICH]

(5) CIS Hizto] YL CholE m2Me,
ZISICE / ZHZE ~Al7lE [ ARIX| /[ MR

=HAE2 S2HAR D 22|= ALXIE HERE
Lct, [colony]
2. SF UIF2 T &t 7hel L2t S0f Q= RS
=olLc} [contains]

3. ofolA A= Hotw2(7te] Mo ASLICE
[western]
4. 0| Hes ARSS XRE ol B4 glo] 2
£2 ZMZ L5 5te MzLct  [forcing]

0|E MAIQ. O C}S HENAM 1

C}
El0{=S2 ot Sa2t0| SthlL.

1. Buet HHE [religious]
2, MzEoln Hafsict [develop]
3. XIRE2 HH [freedom]
4. HMS EID 2 9|2 oot [sail]
5. UM Ato[e] Hz|7t [thick]
6. AlZnt 2715 2Utek= 7ACH by [ship]
7. 59 s Wt ZA = LA [spine]

Review Grammar Test

. J= HXIXME HEUo [like]
. 1865H0]| 0| Bt £ Lof| K== Ol =AU
&L} [against]

3. zXE2 HoIZ2tREt= HIE Bt S=0iA O]
TOZ GAMSLICE [to]

4. 222 AMatoz o ARILCY [considered]

() L= 2 ol Hi2A| 13 Ch2 23S A ANQ,
1. [Much of Australia is desert.]
SFO| B2 FE20[ AfULCE
2. [About 98% of Antarctica is covered with
ice.] =2 2% 98%= L2222 FFHN JUSLICE
3. [Many years later, some explorers came
to America from Europe.] 22 M|go| x|t
=, Y EE7IS0| FEOIM otH2|7tE RESLICL
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A0 YHE X|7|= Bt YR|7| AHO0| UASLICE ZX 2L50|M LSS 2= SOl et 02(7H AT ARSLICE
SIF BY 2R} QB AHS MESHFELICE J2iM, ol &, AE2 FHE RELICEL “STHoH Stiof” J= A2
A, Oks ARS0| YU X1717| 2ot ERSUCE 2L AH0| Ft S ¢ ke MEHS2 27t WsU
ORZbEUICE il AHE2 CHA| FHE RELICE ChA| 0 MES0| E2it FHXIX| 2at
1 2HEA FolE FUFUCE

ol &, 2 S ot o7t 2z UHS SAYSLICL AE2 SE6I0 A2RELCE “STHoH SCHoH” 2Lt

RpAlo] B0 ch R

o
[
N
rlo
1o
_na
ruH1

|'|0

=
HOll= O AL0| 2IZI0f Al M| UUBLICE ST B2 USS ZHT AL
O
=

LR

Comprehension Checkup 1.F 2.F 1.b 2.a 3.c 4.c

Vocabulary Focus 1.c 2.d 3.a 4.b
1.watched 2.bored 3.protect 4.attack

Grammar Focus  1.grew 2.felt 3.cried 4.warned 5.got 6.paid

Summary watched / grew / warned / attacked
| Reading Focus | 93p. | 2H| HEH 2 shM
. Ok|7| AlHS xtS | O E
SAP| o4 7 s HUR? Comprehension Checkup
- D2 AIME2 Si7F EE YHE =0|1 /US o
2| K| LULIR? S B2 TE, WX M= EE2 FE 12M 2.
1. LR7| AH2 LH(et A 51 JAUSLIEE  [F]
| Vocabulary | 9Gp. 2. 012 AZISS STHE 30|10 YU 253ALIC
- shepherd @ %x|7| [F]
« flock [ |
« bored & X|Z§t WES 71 YSt2 EHE 12N,
. ==
protect (& 225iL4 1. 222 200 243t 3P [b]
- warn 8 2105} a. QS EHL
" attack &St b. LS %2 Mg 7 2
« panic [ 3= M2ES|Ct SiSthet . SOff R b
+ guilty & ZMZ0| E=, 7S L=
2. UR7| A2 of M2 FELI? [a]




c. 02 AESat o7 ot H%47| =0l

E*319*¢'—I77F? [c]

M

a. YRI7| A2 “SON'ET A2 4 YU
L,

b. URI7| AL YSS BEHELIC

c. YRI7| AL "STHOH'2HT AIFIR 0f

= 05 EoX| UL

Vocabulary Focus

() LIS OIS o2 =t SR,

1.0 c. & EE M| 22
2. H35|CH---- d. offH AlE =2 0 20| sHE
x| o2 air

3. JUoICt---- a. FAI0fA L Lo| LOEX|=
220t Fsict
4. SHICE---- b. T2 ORI 5t it
(5) LIS Yiziol| Y32 CholE T2M)Q.
wet / SZAsitt / Esith / X[AHRCE

1. A0 YIS X|7 = LX|7| AH0] AUZHCE

[watched]
2. 517 Y SKINUE AH2 THESHESLIC
[bored]
3. OFS AIZS0| Y2 E5517| sk ZeAgtaLict
[protect]

[attack]

SAte] A

Aol ofet P Y U= SAE LAYE2Z Mot
SLICHL RS SME2 IR = I SAHEY
Ol -(e)dE 201 FLCh 10| 73| ch27| Hat
= SAEE ACER 02 E77 SAE2 = 2%
FO{0F BfLICY

grow —grew get—got

-
[

feel—felt pay—paid

LIS SALS S XML,

1. Xf2iCh [grew] 2. L7ct [felt]
8. 2Ct  [cried] 4. A1l [warned]
5. 7IXIct  [got] 6. X|Z3ICt  [paid]

ZES 294517 sl Hiziol| Y2 TS Z2t i
ML,

40

SAMCH / BO3Ct / XIARCE [ ~EUAC

There was a shepherd boy who watched over
a flock of sheep. When the boy grew bored,
he played a joke. He cried, “Wolf! Wolf!” and
the villagers came running. They warned him
not to play jokes. One day, a big wolf attacked
the sheep. The boy cried, “Wolf! Wolf!” but
this time the villagers did not come.

Aol LHE X7 |= Lx[7] AHO| UUSLICE AHS
IF2sHX (A MEHE FELICH J= “SToH Sohof "2t
A2iXD, 02 AIZS0| EHARSELICE AIRIS2 AH0
A FHRIX| Latr ZoELIC o ', ATt STy
7t L2 SAJGLICEL AH0| “SCHoH SCHoH 2t A

2K, ofHoll= Obs MEHES0| 2| HRtSLICE
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| 22 5 | SHeQl SRS

7|z 7 M= AERSLICEL o= 0|E O, U= M| flof 8 2 AMEtD EHEst RRE 0|1 AlFeE
HSELICH = SFE H2n FELICHL 243 m2t ZoWA, JlE= MZRISLICE 0] RS ot He =2
2 S350 UH F 0IEIE & & 0. AHS0| Aalet U= ES 7ok 12|11 o 2 HolZ|IS2 271K 2
2, £ INSS UCH 2 7o O =C= Higt C2f|Ae IS 2lES 4 4~ QIO H F OIEEA Y Ao, 2
£ HXOHS0] & HF 224l 2 7ok SHX|2E M MX| 042 7ok Li= 11 oS0l L H2IE Ko 2
7{0F. O|E7| HO[o} 7 S 2t U1 H7|= 1| HEIE & K30, SF77t L0 T2tz ZHIS 2{0fAf At
2tK HRSLICEL = BiAo2 o2 FO0ESLICL

| = |

Comprehension Checkup 1.T 2.T 1.b 2.b 3.c 4.a

1.a 2.c 3.b 4.d
1.pail 2.Walking
1.on 2.With

Vocabulary Focus

Grammar Focus

Summary

| Reading Focus | 99p.
. OfELS 3010|717

- I718] E2 FA0IALR?

| Vocabulary | 99p.

8 Y30

- pail @
* hen =&

- envy & F2{5ICH

- toss /2 MSCH HX|CH
spill [ £0}X|Ct, HE2{X|CH
- disappear 5 ARZIXICH

.

3.lay 4.disappeared

pail / making / hatch / toss / spilled

ENEEEETY

Comprehension Checkup

U SRS TE, 3K o= 2HS FE DM,
1. H7l= 29 3t S012 ofzlof 0|z AFOR it
&t [T]
2. H7ls S92 WD, 9= 2 YoM 2o
HSLIC [T]
74 egte g mEMR
1. 222 2o Bat 2R [b]
a. 2R2 £ HE A
b. Ofit3t A= (0] LI B2 ZZIDt AL 2
c. 20| 298 2 A
2. 7= 295 0T 2R BN [b]
a. U= 22 ohn 4L,
b. JUf= 1242 ofzjof 0|3 ZtaLIct




c. dls OAs &0 S1 UsH

3. m7[= A SRE HESUIMN? [c]
a. 20| Z2A Foix7| =0
b. FZ7tet f5%7| wZo
c. M2|E H7| H=ofl

4. M7= FAS 7K1 ez SOIREUINT?  [a]
a. OIRA= 20 2X| petsLitt. Jlfs Hiee
= Zofl SOk
b. Jl4s R{E iK1 TOZ S0ISLICY
c. dle == 7iX|1 Hez SO0IZEU

Vocabulary Focus

1. 5. 950/ a. 58
2. U5 -c. YA
3.

SHAsict---- b. OE £/t 72 U= of
T RS 7IX|7|Z Hi2tch
4. ZOIX|CH---- d. R¢s| &7| ez Lrt

2ot /AR / 2/ 8

— —

Aoz MitsLct, [pail]

ZE Wt ZoBM HYlE Us AN AHS M

1. M7= A5t EE8t 2R o 5 H2lo| 0|1

AS 7{oF 2t MZIRELICE [Walking]

EE i Zi‘.’:ILlEf. [lay]

{01 ArPRSLICE
[disappeared]

»
;Io il
0
A
i
=
3
&
inl
o
Ho
mu
do

HX|At on, with

ZIX|AL onO| ‘~2f 2ozt 2n|2 XY = Foll &
ALt {IXIE UEE 2ol SLCE XA withs ‘~2
7IX|2'2k= o|o|7t Ql&LCt

AN TS IEN 2,

1. Byl o2l o 8t S0l Aldstn 2@ £92

oz Aoz muﬁuu [on]
2. 0| 95 o} B EO2 Lj= EE5 Ast B
Df2lE A 4 9l0] [With]

EES 294517| Hlal HIZh| LH2 ElOIE St M.

SEA7ICE / Moot / (Z2)
/ £OoHCH

rir

AN

Peggy was a milkmaid. Leaving for the market
with a pail of milk on her head, she thought,
‘After making money with this milk, | can buy
some hens, let them hatch more chickens,
and sell them. With the money, | can buy a
dress! I'll toss my head at girls who envy me.’
Peggy tossed her head, and the milk spilled
and disappeared on the dirt road.

7= $7 M= AEFSLICE H2| 2o 27 éf
0| AIHC=Z MLIHAM, H7 |= HZRIELICE 0] SF
== B 0301, L= &% ASHS 4 4= 0f. &l o
U2 Hot2IE BSA7 Al o, = 70k 1 E9F L=
EYAS A £ Q0fl O Li= LIS Feiche A4S
Ao H2IE = ZS0HX|. H7 [= H2IE =f RS, 2
71 £0AM Ti2i2 2 ol S HESLICE

\mllig




Music | UNIT15

=S 22 of, 25t £20| WRrict 142 S50 Meict B2C/s TokxLt [kt 22 episE
o1zl 4 gLict
U2Cjol= 2IS0| YSLICE 2SS S0 ZOIYLIC TS ey} SRl SOt SHS KLY, 2BS XL

22 os 2,

I I
Comprehension Checkup 1.T 2.T 1.c 2.b 3.b 4.a

03
1L

Vocabulary Focus 1.d 2.a 3.b 4.c
1.melody 2.played 3.length 4.tap

Grammar Focus  1.Tap with your toes while a song is playing.
2.He was doing homework while | was sleeping.

Summary melody / notes / instruments / rhythm / drums
| Reading Focus | 105p. | 2x e L i |

- HERClE= 2ANeIR? Comprehension Checkup

. 2[ES BofoI7kR?

a— T A

%= EY2 TE, W M= B2 FE 12N,

| Vocabulary | 105p. 1. 0|22 OOl 2 HW2C|2 HFE 4 QL)
- melody = H2C]| [T]
- note @S, SH 2, CEHO=E HFsh= A2 2L [T]
- instrument 27|
- rhythm 225, 85 7HY U2 HE NEMR.
* length 20| 1. 222 2ol Bt 2ULR [c]
+ clap [&/54 X|Ct a. LA Xt 5hs e
+ tap [5/(71EA) F=2IcH b. DjOHcL} 7|E}2EEH L= Hzr|

c. #2r|et 2§
| 23! X1 | 106p.
- playing the drums E& 1% 2. WRC|= 2AJALII? [b]
+ clapping with hands £ X|7| a. 29| zlojelLict,
- tapping feet &t 7127 b. ashE 2L Ct

c. U2 F2= AYLICH




3. 252 —?—%?:!'—Iﬁf? [b]

4. 0j= 20| 2|52 AFsh= WHo| ofgLm?  [a]
a. &%
b. & &%
c. 24 X|7|

Vocabulary Focus

1. 5 85 d. s9H 22| = 0 A2E L
EfLtl= 22

2. 97| a. 39S US| Aot AFohs A

3. ZO|----b. F& 0| LojLf= S| Azt ¥

4. (HEA) FE2ICh- - c. OffF ol £7120|Lt

= 718 Rt

() Ch2 wizio] 232 CojE T2ML,
20| / ozl / (hEA) Sealc / Her)

1. 2ig o o2120| eisk= £20| WEC|LICE

[melody]

2, 2= 7|2 3FE 4 UEUCL  [played]

3. 252 39 Zo|Lc. [Iength]
4. 2|52 27t SRk S0l o2i20] EE 7

= ALk [tap]

TEAE while

H&AF while2 & 222 HAske JEtS st ‘~6

[=]
= S0l'2k= 20|E LIEHLCE

H7\9t Z0| ‘while’s AIBSI0 F 22X &/ MM,

1. [Tap with your toes while a song is
playing.] 27} AFEE= SOt L2 22 BA|R.

2. [He was doing homework while | was
sleeping.] W7t Xt Y= 8¢ = SHIE ot

UL

MAMEH

ZES 2517 sl Hiziol| YH2 TS St AR
ML,

=/ =20 / 2s / =8/ 7

You sing a melody. It is a group of notes.
Melodies can be played on instruments.
Melodies have rhythm, the length of the
notes. The rhythm can be played on the
drums.

O2fE2 HW2OE Lefgilch B2ll= 32| Ha
Ch ®ECl= 27|2 AFE 4+ AsLCh B2rol= 2
o Zo[2! 2|50| JUELICE 2|52 EECE 3FE &

AU




© Music | UNIT16

UEHICEL SMEN| 717{Lf, AL, ZRE, 22|12 HX|o Rz s S
o

=] =
7IE, Hl0I22), J2ln BRE 22 opy| HEE HIRBIN S2US 32 4 Us
u} 7 =] l:él'l

. A [= =l 3 =
LCH MES2 S92 UEE XS HiE + AUAsLICHL S UEs A2 Xl $XI2, 32 E7I= st &
0||__||:_|.
| & |

Comprehension Checkup 1.T 2.T 1.a 2.b 3.c 4.c

Vocabulary Focus 1.c 2.a 3.b 4.d
1.listening 2.learning 3.make 4.way

Grammar Focus 1.is 2.is 3.was

Summary listening / play / make / way

| Reading Focus | 11p. - listening to CDs A|C| £7|
- AIEES2 o8 322 2 4 JUR?

o

=

of
- YU E717| floll RS SHR7?

| Vocabulary | 1iip. | 2

- enjoy [/ &7|ct Comprehension Checkup

- listen B Lt

- concert @ ZME, ¢1F3]| = EH2 TE, UKl Y= 2E2 FE 12N,
* mobile &/0[53t7| #12 1. 2US E7I= o 7IX| Y2 XS E= AUy
- learn [S/H<XCH ch [T]
+ violin [ H0|=2! 2. \EHE2 22 U5eEM 2= 2 = UsU
- flute B EFE Ct
- way 2 &, g4 [T]
| 22! X2 | 12p. JHEE ot et2 nEN|Q
* How to enjoy music S22 &7I= &Y 1. 222 200 st 2L [a]
« playing the violin H|0|Z2&! HAF a. S912 E7|
. . L ~ _

playing the piano I|0of HF b. SOIS EL dp

o
12
N
[T
re n
Por
[o]]]
Fl'F
0%
i3

- concert 2ME
- listening to an MP3 MP3 £7|
+ playing the guitar 7|Et 2% 2.

40
i)
rir
i)
018
=
0jo
10
njo
[Ll’ﬂ
o
1
$0
o>
-
=

[b]




b. ZME ZoZM
c. M2 eZ0ZN

3. 220 w2y, L2ls ofE SUS 5L 4+ Us SAlfl -ingE 01 ~o
Lk [c] LIt 4 QLI ol %@Aram E.H-Ith %M%
a. ZRES TUso=A HAIZ HHE 20122 SYARD 22t el §
b. BLIHEIE atso2A HAL Z0{ Xf2ofl M0|® T4 FZS BLIC
c. 97| HXE HiZo R

A2 CI0fE T2HR

4. HO|E2 AFE HiYM R2l= RS € + U 1. 39S UEs A2 EX] YEU [is]
Limi? [c] 2. ZXt AAGHE % ZiZof o ESLICt [is]
a. 22z ZMEN & £ UELCL 3. 1 TAOA= @F6H= Z40] YEISLICE [was)
b. 22l= J[EIS A 4 UBLIC
c. 22l= g8 5Y 4 ULt

E2g orly| sl Kzl Yo HolE Z3t M9
MNg.
() LIS TIOlE Uo¥2 SEat AR,
RHSCH / SFSitt / E= A/ WY
1. ECt----c. S2l= A2/0f 25 7|20ICt
2. Z7|Ct---- a. OfE HE 5L B S =0} People can enjoy music by listening to it.
SICH People also can enjoy music by learning to
3. 0|Z617| 4 - b. £ @HE 2 Q= play instruments. People can learn to make
4, 2. o Z{S o= SH=X| music. Making music is one way to enjoy
music
(5) CHS RiZhj| Yo¥2 THo{E mEMIQ AEE2 SUS S322M 34 &2 + AU
(SR g NS E o7|g HFsHE X theozM 2942
4+ UL AIRS2 29E UEE AS HiE &
1. A2ISS 822 802 29 52 4 &l QaLich ofg Ti=E e S92 FVIE sitkel i
ct [listening] Lot
2. NFSS op| AFsls 22 Higo=M o8 &
4 4 B [learning]
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Review Vocabulary Test
1.hen/ S 2.note/ S, SE 3.enjoy/ZE7Ict 4.warn/ A5t
1.disappeared 2.learning 3.watched 4.melody

1. S

p a i
2. n S t r u m e n 1
3 m o b i I e

4 I i S t e n

5 e n v y

6 f I o € k

7. | e n g t n

~» protect

Review Grammar Test
1.while 2.paid 3.on 4.is

1. Alone all day, the boy grew bored.
2. Making music is not easy, but it is one way to enjoy music.

3. With the money | make from this milk, | can buy some fat hens.




®

N [hen / Y5t

[
Somol Az| EE 1 A2IS Ll B

[note / S, SE]

[enjoy / E7]|CH

. FE70IA LEE 0| LoEX|= RECH Yaict

[warn / A15ICH

H2C| / XL/ HRE R/ AREECH

1. SR7HE0RL, G2i2 2 oA ARRPRELICE
[disappeared]
2. NEHE2 47| ok AS BN 2AUS &
4 2 sLct [learning]
3. o] Y= X|7l= YR|7| AHO| AASLIC
[watched]
4. 2iE mf 02420 L2fish= £20| BEC|YLICh
[melody]
© mES ML,
1. ¥30| [pail]
2. U2 US| o AFSH= A [instrument]
3. A sHE += U= [mobile]
4. S2l= 22/0f FUE 7I20[ck [listen]
5. CIE T2/t 7HX1 Q= O AE 7IXI7|E Ht
2Hct [envy]
6. 2 L= Mo 22 [flock]
7. FZ 0| LojLt= SO AlZte| & [length]
A Xt oto| §t Hoj= FAHAUIIR?
[protect(2S35HCH)

a7t AFEls S0 LS 2 BEMR.  [while]
OFS ARS2 1 AFQ| R0 A1F MX| IS
Lct. [paid]
07 |= M2| Yol 8t S2| $FE 0| AIFCZE [
ELct [on]
EXt Altohs A o]l of E&LICH [is]

ZE T THolS Hi=A| 23 Chg EES T 242,

. [Alone all day, the boy grew bored.]

SIF Y 2Xt U AE2 TESHRSLICE

. [Making music is not easy, but it is one

way to enjoy music.] 822 ME= A2 &X|
X2 SUE E71= siLtel HHULICE

[With the money | make from this milk, |
can buy some fat hens.] 0| 25E Z0} He

£0F Ui S55 o5t 2 0I2IE 4 4 200]

So - ol =2 2T MV




Art | UNIT17 -

| =
—_——

a4l | EtSIEI2] 3

O{HE2 0 JZ0lM FAE LILIR?
E 19| (EISlE|2l SB)UIM & 4 URO0|, DA2 MEE MS AMERELICEL 19| =5 2 L2? J=
Fa7HEAR HYS L0 W1 82 552 EEE ol o AUSUC
WM LR 2| REHAE mSeet AHRILICE OfK| el JElE B0 (20| HE + U= e et M
= O EML.
| = |
Comprehension Checkup 1.F 2.T 1.c 2.a 3.b 4.c
Vocabulary Focus 1.b 2.a 3.d 4.c
1.intention 2.feel 3.warm 4.point
Grammar Focus 1.Can you feel his intention? 2.Can you help me?
3.Can you walk to school?
Summary warm / feel / bright / orange / picture
| Reading Focus | 121p. | 2l FE 2 i |
B s e
- [FSEEh MZE2 231017127
U= B2 TE, WX U= EE2 FE IEMR
| Vocabulary |21 1. (EISIEIS] 2N, TUS ARE HRHE A3
« landscape = Z2Z4 &Lct [F]
- warm & [f5Cet 2, mMEeet MAE, 142 27 U2 Sk EER
- bright & #2 il =10 AUASLICE [T]
* painting [ 1&
+ point & 7}2|7|ct 71 L2 EHE 12MQ
1. 222 20| et S YL [c]
a. 040 7ol 4
b. EHQt 51
c. (ElolE|Q] 3Z) &2 Wt Axh




b. 1= 27} £2 ASS LIIEE & 1 43
BLCk
c. I XIQE Lyj|n AYALICH

3. TR A SR [b]
a. T2HAH HEE7EAR

b. 7 A h:al_l-AH B3I

4. =0f W=H, 220] Akeo] otdLF? [c]
a. & 10| EtslEle| )5 JRSUC
b. D79| o= 2|7} £ EHYS Ly|=2
5h= Z0IASELICY,
c. & UY2 (EISIEIQ SZ)0IM B2 Alzst M
= A SHELICH

Vocabulary Focus
() LIS TIOlE Uo¥2 SEat AR,
1. 32 - b. o X|Hol| Xix|= ZR
2, mMESt---a. OA LR
3. 92 d. Yo Lt HLk=
4. Jl2|7|ct---- c. &712 502 ¥r o}

JRRIZIe / =l /o mRet /e

1. DA=2 m5cet MIHE ARZRUSLICH 19 =Tt b
MRILIR? [intention]
2. J& P27} EAL HYS LSS 5 1 A
SLCk [feel]
3. WM 2R A [EESH ARIILIC

[kt A S

[warm]
4, To| IS HT [[EES MS BE 7127 BEA|

2. [point]

XAt can?| °|E2E

Can + 0| + SAFE ~7 1 ~8 £ ULIR?
ZSAt can0| M0l BEZ oIFFo=Z Ut = can
2 0o yoz HiHL|ct

Ch2 22 2719 20| HIY MM,

1. [Can you feel his intention?]
o322 19| oz = L2 4 QILIQ?

2. [Can you help me?]
LIS E2FE 4= 0127

3. [Can you walk to school?]
Of2fE2 ol ZoiZ = ULIR?

EEE 2%a1| sl izl YH2 HolE 2t P
ML,

=13
21

rio

/ 3B/ FEN / wEst ) Lol

In Tahitian Landscape, Gauguin used warm
colors to make us feel the hot sun and see
the bright sky. Red, yellow, and orange
are warm colors. Can you find them in this
picture?
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Art | UNIT18

Oft 07152 20l AROILH AFES 2RI 941 9F| ABHS AR BILICH
w2 = zEfa1°|< 7|T>—sax' Atos NS JYILICL 3P} 0l IS (F2 710k 0/F EH
X[3E, 21 T2 QH0fis WZHAO| 20| QUSLICE O] SER= St WIS AlRistn B IRIZ UojLps Sot =
£ Btk 02122 0] IO of 015 Eoi BB

-
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Comprehension Checkup 1.T 2.F 1.2 2.c 3.b 4.b

Vocabulary Focus 1.c 2.a 3.b 4.d
1.including 2.made up 3.notice 4.pushing

Grammar Focus 1.What 2.What 3.What

Summary colors / made up / red / blue

LN

| OREE o HMostt g IS = Holud Comprehension Checkup

27
- el TS = o AROIALIR? U= B2 TE, X Y= B2 FE 1EM Q.
1. (FE 7122 EX| Mo =0t Y| QUELICH
| Vocabulary | 127p. [T]
- artist = 0|=71, o7t 2. 1 JZof w7t Ao] &L [F]
- painting 2 18, slst
+ include (& Z&5ICH 7FE YUB2 HE TEM2.

- atmosphere (7|2, £27|
- made up (~2) FHE=
- fiery @ 2El= <8, AILER

I|_|77r2 [a]

* push & 2Ct c. uuww—;} XIS Tt
2. (2 7|12)0l| st 0| AFILITI? [c]

a. TI2I0j| W7 X2I0| AIKS0| QAL

b. 20 MRMO R Hsial 2S0| ULt

c. 20|l ARHO|LE AE2 gl 2ZX| MOt Q5
LIC.




3. J20j= & Mo| UBLITR [b]

4. WZIA0| RS M| BLITF [b]
a. CHY
b. &

c. LIZ

Vocabulary Focus

() TI2 EOIE YRS St s,

1. 32, 85 . S@pt a2 a2

2. 712, 29| a. OfE HAL AE0| = LY
3. Ytk b. GO vt Yoz Lart

4. SEH= S5t d. 2R Mo| 1S e

ChS HIZtof| 22 TolE D2ML.

@

0= / 8= / Z&fot7| / Loxi2|ct

1. O SPIE2 =0 AROIL AIS S Z&I5HK| 94

1 QEX| MZTE ARZSLC, [including]

2, (ZE27|2)2 Qx| Mooz ME J2QlLct
[made up]
3. (FE2 7I2)0ll= 70| 2ol UeH, of2{g2 0|
A2 A YotE & USLICH [notice]
4. (FE 7I2)0IM EEl= X 7S mEtis 9
OUli= AME ELich [pushing]

O|ZAl what + EA}

What + BAF ~?7: 22[0{H] (BA) ~?

OI220{| M what HIZ CH20| HAZF 2H what2 ‘0f

22 52 o0|S LiEHLCE

U2 OIS TEN2,

1. G242 0| 20| o 0|52 20 ERsUF?

[What]
2. XIZ F AL [What]
3. 22 o AES Z0ILIR? [What]

8
MO
fujo
K
o

ot7| fleh HiZhofl Y2 EOE S2t i

THE [ W ) A/ IR

Some artists only use colors in their
paintings. Helen Frankenthaler’s Blue
Atmosphere is made up only of colors.
There’s a lot of red in it. The red seems to be
pushing back the blue.
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Math | UNIT10

LIEFHLICE & O[ZA|

Comprehension

Vocabulary Focus

Grammar Focus

Summary

| Reading Focus | 133p.
. WHANIO B010|71Q7

- WAOIM Aotk E

| Vocabulary | 133p.

« subtraction (=t
- take away HiCt,
. left @2

0| ZMIZ O[FH FUCk 5-2=3. &£ O[EH &Y
st 4 UELICE 5 17| 2= 30|Ck”

XA = RULICH 27 FHETHTES

ASLICE 27HE LT & EHo| Hot ALUR?

UELICE 5 7] 2= 32t 2Lt - 7S

= ol %2

Checkup 1.T 2.F 1.b 2.a 3.c 4.b

1.b 2.a 3.d 4.c
1.number 2.written 3.subtracting 4.take away

1.How many glasses are left?
2.How much money do you want?
3.How much water did you drink?

taking / written / equals / is

- write (& MCHwrite —wrote —written)

« minus [®~S i
- equal B (4,
- subtract E/#iCt

- say [& YsiCt

¥ S0|) 2t

| 2l e 2 1Y |
Comprehension Checkup
A2 2olsttR?

U= BU2 TE, WXl = 22 FE 1EMR

1. 2AI2 A2siE, 2l 222 WAl 2B
ch [T]

SMOHCH (=~ th 2, 5-2=32 0|&/| & + UELICL 5 L&l 2= 3

ot 2 [F]
74 ggte g maMe

1. 222 F30)| 2t 2L [b]
a. WA} G
b. AT} w2 w2 Gl
c. MMS U2 Sl W

2. B2 290U [a]
a. OfHl RXIE CIE A0l = AJLIC
b. KAEE Tt Hote AYLICE
c. RXE M= ALCh




3. 5-2=32 {EA & & UELII? [c]
a. 5 tif7| 2= 31t 2L} (equal — equals)
b. 50A 2& tiH 30| =Lt (leave — is)
c. 50i|lAf 2& i 30|Ct,

4. - J|z= TS LEHILIIT [b]
St AT
b. b7 QUCt,

ol it

ini

o
iig]

Vocabulary Focus

() CIS Tl Yte Sat EsR,
1
2
3
4

o2 SAMSICt
. WHCH---- d. Bt KIE EPE KO A] BHCF
. WHCH SHOHCE---- c. M|74SHAHLE tejLHCH
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o il
Ral
Hﬁ
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fujo

r|=l

(5) CIS Hizto] YL CholE m2Me,

MOE / W=/ RA/ ~E

=

1. W2 oF RXIE CHE KXM0l|A] tif= ZARALICE
[number]
2. 5-2=32 02 Y & UBLICK 5 #7| 2= 3
o &k, [written]

3. - 7|2= o220 i ACk= S LEHLCE

[subtracting]
4. 5-2=32 0|2/ X £ UAELICE 50M 25 i
™ 30|Ck. [take away]

how many2} how much

+ Q= A9 Y =2 W= how manyE, A =

=
2= A9 Y= =S = how muchS AREELICE

LE 7l TOIS HIEA| TN £ ChS 2YS T 242,

1. [How many glasses are left?]
AnfLt B2 THo| ot ULR?

N

. [How much money do you want?]

ZotLt B2 == HEU?

w

[How much water did you drink?]

ot B2 =2 0LR?

Z2EE 2%ab| sl HiZiofl Y2 HolE 2t M2

MO/ ~Olct / 2T [ 7k R

Subtraction is taking one number away from
another. 5-2=3 can be written: Five minus

two equals three, or five take away two is

three

WHE o RXIE CHE RXA0IA Rf&shk= ALICH
5-2=32 0|2 MY & JUELICE 5 7] 2= 31t
L} = 501|A 25 i 30|Ct,




Math | UNIT20

| 22 si | X}0]
= 2Kt Afol2] xfo|= Bt %
LIk 224 7-32] Rf= 4
A17] 39| R= 2ACIIIR? 4
Hlm5t7| Qs AIRE

03
1L

Comprehension Checkup

Vocabulary Focus

Grammar Focus

Summary

| Reading Focus | 139p.

.

xfols FAHRI7IR?

XI0IZ H|WI5H7| 2l O 7|

| Vocabulary | 139p.

.

between =~ AL0|0]
difference (2 x}0|
other & LtHX|

bigger @ 2

sign E)7|5, EA|
compare & H|wstCt
as well as ~&0f OfL|2}

sum A, A

XE7t LIHA| RARECH Lol o 2716k= [
YLk

LICE t FHoll H2 Ak Afetn =8

h7] 32 1017] W20l F=2 1LIC >, <, 32|10 = 7|S= 71 OtL[2t XPoIE

= UsLHC

1.F 2.F
1.b 2.a 3.d 4.c
1.subtract 2.difference 3.equals 4.compare

1. What is the difference of 4—3? 2.What is the score?
3.What is the title?

1.a 2.c 3.b 4.c

subtract / left / difference / compare

| 2x HE Y sy |
SO0| AFBEILR7?
U= B2 TE, ¥X| Y= B2 FE 12N 2.
1. QS o Foll = = AF2tn SEUCL  [F]
2. > < 02|71 =7|32 XE H|wE 4 St

[F]




3. 10 tf7] 42| Rp= FAUL7F? [b]
a. 7
b. 6
c. 5

4. >° < J|z= M| AEE 4 UASLIINT? [c]
a. XS o
b. £XtE 4 mj
c. RXI2| RIS H|we o

Vocabulary Focus

() CfS EolE YRS 1 SR,

1. UoiR| - b, £ 74 501 5 #n 2

2. ~ Aol 2. 2748 2 20l

3. 715, BA| - d. S#st o8 21 U EAL
2

4. 8- c. 224 0] 47t CisiE 1) &7

>{|
S
~
mN
my
[l
-
~
L5
|=_I
ol
n
-
==
E:
—|—

1. #HS o Foll He KAk X2t S U

[subtract]

2. 7-39 xh= 4Lt [difference]
3. 47| 32 11t ZELC [equals]
4. > < J2|1 = 7|s= /0t OlL2t REE |:||_'
of7| Lok AFZE & JUSLICE [compare]

O|ZAt what

What + beSAt + F01?: (F0{)= FRYULIT?

O|ZAF what2 "290|2k= ojo|=, o Atdof o
3l 2= [ beSAZt M1 2ZI0|H O|2At whatE 2
2 Aol T F0I2} beSAS| YIXIE HHY FH E
Lct.

LS 23S 27|19 Z0| HHY 2M2,

1. [What is the difference of 4-37?]
4-32| Rf= HOlRI7IR?

2. [What is the score?] 47} LA =|&?

3. [What is the title?] H20| RAULI7I?

ZES 2%d1| sl HiZtofl Y2 Tof
Mg,

T
4]

2t

WiCt / Xt xto] / Hluwstch / HAT

After you subtract, you can get a number
left, which is the difference. The difference of
7-3 is 4. You can use the >, <, and = signs
to compare differences and sums.

WS o Floll XL SHLE7H EZAXE=E, 01230] RFIL
Ct. 7—39] xk= 4YLICh xtet SIS Hlwsty| sh

> < 02|10 =7|SE A& 4 UBLCH




Art & Math

| S|

Review Vocabulary Test

() 1.take away / #ict Qofict 2.landscape / £Z 3.painting / 12!, 5|3}

4.sign/ 7|&, EAl
(:) 1.difference 2.feel 3.written 4.notice

() 1.point 2.push 3.bright 4.between 5.write 6.subtract

Review Grammar Test
(Y 1.many 2.What 3.What 4.help

(2} 1.What is the difference of 4-3? 2.Can you feel his intention?

3. How much water do you need?




| 2 YE & sy |

=

Review Vocabulary Test

U2 Tojet AL XS MM,

on

HMZASHALE #HLHCE  [take away / BT S1OHCH]
O™ X|¥0f| XK= ZX| [landscape / £Z]
7 O O [painting / 112, 3/3}]

E20t on|E 21 QU= EAIL 2Y

T )

[sign/ 7S, HA]

(5) LIS RiZhof| Y32 TO{E D2MQ,

Lolct / Zotxt2lct / R xH0| / MKE

1. 7-39| Xk= 4QL|ct, [difference]
2, 142 2P ENAR BYE L= ol T A
RSLIC, [feel]
3. 5-2=32 0|ZA MY & ELICE 5 7| 2= 3
of 2ot [written]
4. (FE 7|2)0ll= W7to| 0| eH, K2{g2 0]
N2 e Yoks 4= JUBLICE [notice]

E{SS ot S32t0] SiML.

1. 2712 5o Y7 rt [point]
2, Blo= dirf Wefo 2 20t [push]
3. 20| UL HLk= [bright]
4. 5 HE 22l6k= HRI0IM [between]
5. 2K <X} S5 HOoZ HMFICt [write]
6. S XXIE CIE KXI0f A tifC [subtract]

Review Grammar Test

. % THo| ot ULIR? [many]
2. GYE2 o =2 Z0kILIR? [What]
3. - 7|sE= RS LIEHL 7R [What]
4. LIE =2E = LR? [help]

LE 2 TS HIEAH 231 CFS 22 T 2M12,
1. [What is the difference of 4-3?]

4-39| xk= 2ATIR?
2. [Can you feel his intention?]

19| Q=8 L2 4 ULIN?
3. [How much water do you need?]

Zott B2 4ol 20| EREL7I?







